Name: Date:

Geometry Honors

Midterm Review Extra Practice

a) How many rotational symmetries does the image have?

| ot 130

b) How many reflectional symmetries does the image have?

L
2. For the given Rhombus ABCD.

1. For the given image

a) IfBE =5, and AC = 24, find DC

3 2 2 —
8 S +Il =C De=13
5 S+ 144 = 2
A (X = 5
z 169 = c2
D C = |3
b) If ZBAE = 35°, find £CDE
2 3 4(35°)= 220°
o € 22 U] 0
A 3;,-0 S e 40 =55

s

3. Based the image below

a) What rigid motion(s) map AABG to ADEG?
o teflection over eH

b) What rigid motion(s) map ABHC onto ADEG?

& reflection ower Gi flowed by a reflectitn over BE

or
Q. rotodioh OF B¢ oround PAT O
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4. IfP || L,AB || DF, 2LFE = 50°, and ~ ABC = 88°.
D .o

P ¢ A /ﬁg\
S 3 C 500
SR/
B

Lt SONF

Find ZDCE.

18y - 88 -0 * 42
m Z0CE = 42°

5. Given Rectangle ACEG and Rhombus HBDF':

A C

G t F E
a) Describe a sequence of rigid motions to prove that AHGF = ADCB

A eficetion over BE followed by & reflectionover Rp .
A rstation of 180 araud O (Jme mteretion efthe ciagonals of HBUFB

b) Given Rectangle ACEG, Rhombus HBDF, GF = CB. Prove that AHGF = ADCB

N R
(D HBDF is & rhombus, GF=CB,| © Gwen

ACEG 1§ o ectamgie

@BHSHEEPEBD @SideséFarhombLL?areequal

@ 1A, £(,LE, LB ot 3®) rectanges howe 4 right 48
right angieS

@ LA= £(C

(8) AHCE & ADCR ©® AL

@ all right 25 are egqual
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Given: EN 1 BG, OG L BG, BN = DG, EN = 0G
' 5a) Prove: ABEN = ADOG 5b) Prove: Parallelogram EODB

Statement

Reason

© ENLED ,DELEC ,BN=PC
EN =06

@ mENS =08, m206D=90°

& LENB = L06D

@® ABEN & ADDG

@ BEsD®

©® 3=24

@ ee Do

EODR 15 . palielogram

O een .

(@ L uresorm right £s
@ al right £s o equal
@ $AS

(® creit.

@ crete

@ att. vt Ly e & when lnes are |l

A quadrilatera with 1 par of equa
and paraliel Sides 1S . pasadlieiogram.

5) Given: MP = OR, PN =RN, £SPM = £SRO

Prove: MR = PO
Statement Reason
() HP=0R, PN RN, @ cen
£ PMe LSR0
@ zmsp & 20SR @ verfical angies are &
@ AuSp=x A0SR A AAS
@ <085, SR @ CPCTC
©® HB+R=T ® oddition property
ov
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B

Prove:a)ﬁ: = PD b)ﬁ? = PE
Statement

6) Given: PS and PR are the perpendicular bisectors ofﬁ and K respectfully.

Reason

Q@ 75 and PR are e L bigectorSof B>
a_n_di:T; respectively

@R, REW

®) mD5P=qs’ ; mLPSF=Q0)
miRP :%") MLW,E=qb‘

® Lp3PaLPSE & 2FRP & 2PRE

©® S—PES—YS; PR = PR

© Age = AFSP

@ BF=

AFPR = XEPR

@ PrEeE

@O guen

® bisceiors dvide seqeis Mo
w0 equal FGMETTES.

) L ures fxm e anged

® al rght 43 qre &

@) refeavt

© =

@ Tt

SAS

@Crere

¢) Point P is called the CycumM Cen4€r_ of the triangle.

H is the midpoint of AD.

6) Given: Isosceles Trapezoid ABCD, Rhombus EFGH, BE =CG

Prove: AAEH = ADGH

Statement Reason
@ ABCD IS an isoscetes | O elen
+rapeeoid ) EFEH 1S o
rhombus ) BEE=CG PR
H 1S +he mdpotrt-of AD
@ Eq=CH @ sidesof o rhombus are &
BA=(D @) (ateral sides of an 1SEES
o D e tropeecid are &
@® pa-BE= (D-C6 @ subtraction property
_or _
EA £ GD
® Ad D ® rmudpoint dwides @ Segment mio two
equal Sgments
(&) AEH & ADGH © S88




